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Zadatak 15. U tetivnom je četverokutu a = 7 cm, c = 4 cm, α = 35◦6′54′′ , R = 5 cm.
Izračunaj b , d i β .

Rješenje.
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a = 7 cm

c = 4 cm

α = 35◦6′54′′

R = 5 cm

b, d, β =?

α + γ = β + δ = 180◦

γ = 180◦ − α = 144◦53′6′′

�OCD jednakokračan =⇒ cos τ =

c
2
R

, τ = 66◦25′19′′

ε = γ − τ = 78◦27′47′′

�OBC jednakokračan =⇒ cos ε =

b
2
R

=⇒ b = 2R cos ε = 2 cm

�OAB jednakokračan =⇒ cos ϕ =

a
2
R

=⇒ ϕ = 45◦34′23′′

β = ϕ + ε = 124◦2′10′′

δ = 180◦ − β = 55◦57′50′′

d
2
R

= cos(ϕ − α) =⇒ d = 2R cos(ϕ − α) = 9.83 cm.
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